mean # PXL hits vs eta

<pixel hits>

Ratio

=
T T
9

0.95 i i

| mean # PXL Layers with measurement vs eta

<pixel layers>
N w »
N a1 w a1 s a1

=
o

o
o

Ratiq
T 1T 1 I&

0.95 y

|
w
N

—=— DQM_ttbarPU_mkFit_5iter

| mean # STRIP hits | —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

N ' : : : : Y C :
2 T : : : L 2
< g : : : ¥ r
I S S > -
o 12 T : : : : ®© r
s [ * : : : . o F
\U,) - - : S S 6F
1] ISR S S o 17
. : : . vV E
- : : Lo B
- . . : $ s SE
<] SRR SRR P R s b o -
[ < “E
- . . . -
B W B @t o -
i - : . C
. . . -
B : ...l....' -..II. 3:
IS C
[ A R A S S
- = -
2_— ''''''''''''''''''''''''''''''''''''''''''''''''''''''' s OSSO S
- =
r = L C :
OJ..LQ ol 1 1 : 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 : 1 1 OL.\.Q;*# 1 1 + 1 1 1 1 11 1 1 11 1 1 11 1 1 II.'
s s
i VETTYNPRYTITITC TRSTTTTEUCTINUOTTIT:ITIRVOIPTATTI| i JUUTOTCORETRONUNCONUUTOVNUNUNOVIUUNE N URUOTOTLOROUII
| |TTT"E'T'TT||ITTET TlITITTTEITTITTTITTE]TTIT'TT"ET'IT|| | TTIT"E'T'TTIIITTE‘[TTITTITT'I'EIITIITI ITTE TTIT'TT"E'HTII
095 : : i 095 : i i i i

-3 -2 -1

1 2 3

-3 -2

-1 0 1 2



	Contents
	Page 1


